



Egyptian Mathematical Society
Journal of the Egyptian Mathematical Society

www.etms-eg.org
 www.elsevier.com/locate/joems



ORIGINAL ARTICLE

Characterizations of mixture of two-component exponentiated family of distributions based on generalized order statistics

M.A.W. Mahmoud ^a, M.G.M. Ghazal ^{b,*}

^a *Mathematics Department, Faculty of Science, Al-Azhar University, Nasr City 11884, Cairo, Egypt*

^b *Mathematics Department, Faculty of Science, Minia University, El-Minia, Egypt*

Received 20 June 2011; revised 30 July 2012

Available online 7 December 2012

KEYWORDS

Finite mixtures;
 Generalized order statistics;
 Characterizations

Abstract In this paper, we shall characterize mixture of two components of exponentiated family of distributions based on recurrence relations for moment and conditional moment generating functions of generalized order statistics. Results for ordinary order statistics and upper *k*th record values are obtained as special cases.

© 2012 Egyptian Mathematical Society. Production and hosting by Elsevier B.V.

Open access under [CC BY-NC-ND license](#).

1. Introduction

The concept of the generalized order statistics (gOSs) is a mathematical generalization of all ordered data such as, ordinary order statistics (oOSs), ordinary record values (oRVs), sequential order statistics and ordering via truncated distributions can be discussed as they are special cases of the gOSs. This concept had been introduced by Kamps [1,2]. Keseling [3] characterized some continuous distributions based on conditional distributions of gOSs. Characterization of the exponential distribution based on independence of functions of gOSs and estimation of

its parameters have been introduced by Ahsanullah [4]. Recurrence relations for moments of gOSs within a class of doubly truncated distributions have been derived by Ahmad and Fawzy [5]. AL-Hussaini et al. [6] obtained recurrence relations for moment and conditional moment generating functions of gOSs based on mixed distribution. Mahmoud and Ghazal [7,8] derived recurrence relations for moments, conditional moment generating functions and product moments of gOSs based on exponentiated family of distributions and doubly truncated exponentiated family of distributions. Many authors Abdel-Hamid and AL-Hussaini [9] and AL-Hussaini [10] studied specified exponentiated distributions from other points of view.

A mixture cumulative distribution function (cdf) of two components $F_1(x)$ and $F_2(x)$, is given, for $0 \leq p \leq 1$, by

$$F(x) = p F_1(x) + (1 - p) F_2(x). \tag{1.1}$$

If for $i = 1, 2$, $F_i(x)$ belongs to exponentiated family of distributions, that is,

$$F_i(x) = (1 - e^{-\lambda(x)})^{\theta_i}, \quad x \geq 0, \tag{1.2}$$

* Corresponding author.

E-mail addresses: mawmahmoud11@hotmail.com (M.A.W. Mahmoud), eghazal39@yahoo.com (M.G.M. Ghazal).

Peer review under responsibility of Egyptian Mathematical Society.



where $\lambda(x)$ is a non-negative, continuous, monotone increasing, differentiable function of x such that $\lambda(x) \rightarrow 0$ as $x \rightarrow 0^+$, $\lambda(x) \rightarrow \infty$ as $x \rightarrow \infty$ and the parameters $\theta_i > 0$.

The finite mixture probability density function (pdf) is given by

$$f(x) = p f_1(x) + (1 - p) f_2(x), \tag{1.3}$$

where

$$f_i(x) = \theta_i \lambda'(x) e^{-\lambda(x)} [1 - e^{-\lambda(x)}]^{\theta_i - 1}, \quad i = 1, 2.$$

Using (1.1) and (1.2), then a mixture cdf $F(x)$ of such two components may be written as

$$F(x) = p (1 - e^{-\lambda(x)})^{\theta_1} + (1 - p) (1 - e^{-\lambda(x)})^{\theta_2}. \tag{1.4}$$

We need to prove the following lemma.

Lemma 1. *Let X be a mixed random variable which has a cdf $F(x)$ with $F(x)$ being twice differentiable at $x > 0$ and $0 < F(x) < 1$. Then the random variable X has the cdf (1.4) iff for distinct positive constants θ_1 and θ_2 , the differential equation*

$$\left[\frac{(1 - e^{-\lambda(x)}) \bar{F}'(x)}{\lambda'(x)} \right]' \frac{(1 - e^{-\lambda(x)})}{\lambda'(x)} + (\theta_1 + \theta_2) \frac{(1 - e^{-\lambda(x)}) \bar{F}(x)}{\lambda'(x)} + \theta_1 \theta_2 \bar{F}(x) - \theta_1 \theta_2 = 0, \tag{1.5}$$

is satisfied, where $\bar{F}(x) = 1 - F(x)$.

Proof. The necessary part is obvious. For sufficiency, we need to solve the differential Eq. (1.5). Eq. (1.5) can be rewritten as

$$\frac{(1 - e^{-\lambda(x)})}{\lambda'(x)} \left[\frac{(1 - e^{-\lambda(x)}) F'(x)}{\lambda'(x)} \right]' + (\theta_1 + \theta_2) \frac{(1 - e^{-\lambda(x)}) F(x)}{\lambda'(x)} + \theta_1 \theta_2 F(x) = 0. \tag{1.6}$$

Put $z = 1 - e^{-\lambda(x)}$, then (1.6) reduces to

$$z^2 \frac{d^2 F[\lambda^{-1}(\ln(\frac{1}{1-z}))]}{dz^2} + [1 - (\theta_1 + \theta_2)] z \frac{dF[\lambda^{-1}(\ln(\frac{1}{1-z}))]}{dz} + \theta_1 \theta_2 F \left[\lambda^{-1} \left(\ln \left(\frac{1}{1-z} \right) \right) \right] = 0. \tag{1.7}$$

Setting $z = e^t$, then (1.7) reduces to

$$\frac{d^2 F[\lambda^{-1}(\ln(\frac{1}{1-e^t}))]}{dt^2} - (\theta_1 + \theta_2) \frac{dF[\lambda^{-1}(\ln(\frac{1}{1-e^t}))]}{dt} + \theta_1 \theta_2 F \left[\lambda^{-1} \left(\ln \left(\frac{1}{1-e^t} \right) \right) \right] = 0. \tag{1.8}$$

The general solution of (1.8) is

$$F \left[\lambda^{-1} \left(\ln \left(\frac{1}{1-e^t} \right) \right) \right] = p_1 e^{\theta_1 t} + p_2 e^{\theta_2 t},$$

or equivalently,

$$F(x) = p_1 (1 - e^{-\lambda(x)})^{\theta_1} + p_2 (1 - e^{-\lambda(x)})^{\theta_2},$$

where $p_1 + p_2 = 1$. \square

2. Characterizations of finite mixtures based on recurrence relations of moment generating functions of gOSs

Let $X_{1;n;m;k}, X_{2;n;m;k}, \dots, X_{n;n;m;k}$ be n gOSs from the pdf (1.3), (m and k are real numbers, $n > 1$ and $k \geq 1$). The pdf of $X_{r;n;m;k}, 1 \leq r \leq n$, is given by Kamps [1] as follows:

$$f_{X_{r;n;m;k}}(x) = \frac{C_{r-1}}{(r-1)!} [\bar{F}(x)]^{\gamma_r - 1} f(x) g_m^{r-1}(F(x)), \quad x \in \chi, \tag{2.1}$$

where χ is the domain on which $f_{X_{r;n;m;k}}(x)$ is positive,

$$C_{r-1} = \prod_{i=1}^r \gamma_i, \quad \gamma_i = k + (n - i)(m + 1),$$

and for $z \in (0, 1)$,

$$g_m(z) = \begin{cases} \frac{[1 - (1-z)^{m+1}]}{m+1}, & m \neq -1, \\ -\ln(1-z), & m = -1. \end{cases}$$

Theorem 2.1. *Let X be a random variable, $r \geq 1$, m and k be real numbers such that $m \geq -1, k > 1$. Then for integers a such that $a \geq 1$, the following recurrence relation is satisfied iff X has the cdf (1.4)*

$$\begin{aligned} M_{r;n;m;k}^{(a)}(t) - M_{r-1;n;m;k}^{(a)}(t) &= \frac{a t (\theta_1 + \theta_2)}{\theta_1 \theta_2 \gamma_r} E \left[\frac{X_{r;n;m;k}^{a-1} e^{t X_{r;n;m;k}} (1 - e^{-\lambda(X_{r;n;m;k})})}{\lambda'(X_{r;n;m;k})} \right] \\ &+ \frac{a t (\gamma_r - 1)}{\theta_1 \theta_2 \gamma_r} E \left[\frac{X_{r;n;m;k}^{a-1} H(X_{r;n;m;k}) e^{t X_{r;n;m;k}} (1 - e^{-\lambda(X_{r;n;m;k})})^2}{\lambda'^2(X_{r;n;m;k})} \right] \\ &- \frac{a t}{\theta_1 \theta_2 \gamma_r} E \left[\left[\frac{X_{r;n;m;k}^{a-1} e^{t X_{r;n;m;k}} (1 - e^{-\lambda(X_{r;n;m;k})})}{\lambda'(X_{r;n;m;k})} \right]' \frac{(1 - e^{-\lambda(X_{r;n;m;k})})}{\lambda'(X_{r;n;m;k})} \right] \\ &- \frac{a t}{\theta_1 \theta_2} E \left[\frac{X_{r-1;n;m;k}^{a-1} H(X_{r-1;n;m;k}) e^{t X_{r-1;n;m;k}} (1 - e^{-\lambda(X_{r-1;n;m;k})})^2}{\lambda'^2(X_{r-1;n;m;k})} \right] \\ &+ \frac{a t C_{r-1}}{\gamma_r C_{r-1}} E \left[\frac{X_{r;n-1;m;k+m}^{a-1} e^{t X_{r;n-1;m;k+m}}}{H(X_{r;n-1;m;k+m})} \right], \end{aligned} \tag{2.2}$$

where $C_{r-1}^* = \prod_{i=1}^r \gamma_i^*$, $\gamma_i^* = \gamma_i - 1 = (k + m) + (n - 1 - i)(m + 1)$, $' = \frac{d}{dx}$ and $H(x) = f(x)/\bar{F}(x)$.

Proof. If X has the cdf (1.4), from (2.1) we have

$$\begin{aligned} M_{r;n;m;k}^{(a)}(t) &= E[e^{t X_{r;n;m;k}^{(a)}}] = \frac{C_{r-1}}{(r-1)!} \int_0^\infty e^{t x^a} [\bar{F}(x)]^{\gamma_r - 1} f(x) g_m^{r-1} \\ &\times (F(x)) dx = \frac{C_{r-1}}{\gamma_r (r-1)!} \int_0^\infty e^{t x^a} g_m^{r-1}(F(x)) d[-\bar{F}(x)]^{\gamma_r}. \end{aligned} \tag{2.3}$$

Integrating by parts, we obtain

$$\begin{aligned} M_{r;n;m;k}^{(a)}(t) &= \frac{a t C_{r-1}}{\gamma_r (r-1)!} \int_0^\infty x^{a-1} e^{t x^a} [\bar{F}(x)]^{\gamma_r} g_m^{r-1}(F(x)) dx \\ &+ \frac{C_{r-2}}{(r-2)!} \int_0^\infty e^{t x^a} [\bar{F}(x)]^{\gamma_r - 1} f(x) g_m^{r-2}(F(x)) dx. \end{aligned} \tag{2.4}$$

The second term in the right hand side is $M_{r-1;n;m;k}^{(a)}(t)$, so we obtain

$$M_{r;n;m;k}^{(a)}(t) - M_{r-1;n;m;k}^{(a)}(t) = \frac{a t C_{r-1}}{\gamma_r(r-1)!} \int_0^\infty x^{a-1} e^{t x^a} [\bar{F}(x)]^{\gamma_r} \times g_m^{r-1}(F(x)) dx, \tag{2.5}$$

which can be written as

$$M_{r;n;m;k}^{(a)}(t) - M_{r-1;n;m;k}^{(a)}(t) = \frac{a t C_{r-1}}{\gamma_r(r-1)!} \int_0^\infty \frac{x^{a-1} e^{t x^a}}{\lambda'(x)} \times [\bar{F}(x)]^{\gamma_r-1} g_m^{r-1}(F(x)) \{\lambda'(x) \bar{F}(x)\} dx. \tag{2.6}$$

Making use of (1.5) in (2.6) yields

$$M_{r;n;m;k}^{(a)}(t) - M_{r-1;n;m;k}^{(a)}(t) = \frac{a t C_{r-1}}{\theta_1 \theta_2 \gamma_r(r-1)!} \int_0^\infty \frac{x^{a-1} e^{t x^a}}{\lambda'(x)} [\bar{F}(x)]^{\gamma_r-1} g_m^{r-1}(F(x)) \times \left\{ (\theta_1 + \theta_2)(1 - e^{\lambda(x)}) f(x) + \theta_1 \theta_2 \lambda'(x) + \left[\frac{(1 - e^{\lambda(x)}) f(x)}{\lambda'(x)} \right]' (1 - e^{\lambda(x)}) \right\} dx.$$

Then

$$M_{r;n;m;k}^{(a)}(t) - M_{r-1;n;m;k}^{(a)}(t) = I_1 + I_2 + I, \tag{2.7}$$

where

$$I_1 = \frac{a t (\theta_1 + \theta_2) C_{r-1}}{\theta_1 \theta_2 \gamma_r(r-1)!} \int_0^\infty \frac{x^{a-1} e^{t x^a} (1 - e^{\lambda(x)})}{\lambda'(x)} [\bar{F}(x)]^{\gamma_r-1} f(x) g_m^{r-1}(F(x)) dx = \frac{a t (\theta_1 + \theta_2)}{\theta_1 \theta_2 \gamma_r} E \left[\frac{X_{r;n;m;k}^{a-1} e^{t X_{r;n;m;k}^a} (1 - e^{\lambda(X_{r;n;m;k})})}{\lambda'(X_{r;n;m;k})} \right].$$

$$I_2 = \frac{a t C_{r-1}}{\gamma_r(r-1)!} \int_0^\infty \frac{x^{a-1} e^{t x^a}}{H(x)} [\bar{F}(x)]^{\gamma_r-1} f(x) g_m^{r-1}(F(x)) dx = \frac{a t C_{r-1}}{\gamma_r C_{r-1}^*} E \left[\frac{X_{r;n-1;m;k+m}^{a-1} e^{t X_{r;n-1;m;k+m}^a}}{H(X_{r;n-1;m;k+m})} \right].$$

where $C_{r-1}^* = \prod_{i=1}^r \gamma_i^*$, $\gamma_i^* = \gamma_i - 1 = (k + m) + (n - 1 - i) (m + 1)$.

$$I = \frac{a t C_{r-1}}{\theta_1 \theta_2 \gamma_r(r-1)!} \int_0^\infty \frac{x^{a-1} e^{t x^a} (1 - e^{\lambda(x)})}{\lambda'(x)} [\bar{F}(x)]^{\gamma_r-1} g_m^{r-1}(F(x)) d \left[\frac{(1 - e^{\lambda(x)}) f(x)}{\lambda'(x)} \right].$$

Integrating by parts, gives

$$I = I_3 - I_4 - I_5, \tag{2.8}$$

where

$$I_3 = \frac{a t (\gamma_r - 1) C_{r-1}}{\theta_1 \theta_2 \gamma_r(r-1)!} \int_0^\infty \frac{x^{a-1} H(x) e^{t x^a} (1 - e^{\lambda(x)})^2}{\lambda'^2(x)} [\bar{F}(x)]^{\gamma_r-1} f(x) g_m^{r-1}(F(x)) dx = \frac{a t (\gamma_r - 1)}{\theta_1 \theta_2 \gamma_r} E \left[\frac{X_{r;n;m;k}^{a-1} H(X_{r;n;m;k}) e^{t X_{r;n;m;k}^a} (1 - e^{\lambda(X_{r;n;m;k})})^2}{\lambda'^2(X_{r;n;m;k})} \right].$$

$$I_4 = \frac{a t C_{r-1}}{\theta_1 \theta_2 \gamma_r(r-1)!} \int_0^\infty \left[\frac{x^{a-1} e^{t x^a} (1 - e^{\lambda(x)})}{\lambda'(x)} \right]' \frac{(1 - e^{\lambda(x)})}{\lambda'(x)} \times [\bar{F}(x)]^{\gamma_r-1} f(x) g_m^{r-1}(F(x)) dx = \frac{a t}{\theta_1 \theta_2 \gamma_r} E \left[\left[\frac{X_{r;n;m;k}^{a-1} e^{t X_{r;n;m;k}^a} (1 - e^{\lambda(X_{r;n;m;k})})}{\lambda'(X_{r;n;m;k})} \right]' \frac{(1 - e^{\lambda(X_{r;n;m;k})})}{\lambda'(X_{r;n;m;k})} \right].$$

$$I_5 = \frac{a t (r-1) C_{r-1}}{\theta_1 \theta_2 \gamma_r(r-1)!} \int_0^\infty \frac{x^{a-1} H(x) e^{t x^a} (1 - e^{\lambda(x)})^2}{\lambda'^2(x)} \times [\bar{F}(x)]^{\gamma_r-1} f(x) g_m^{r-2}(F(x)) dx = \frac{a t}{\theta_1 \theta_2} E \left[\frac{X_{r-1;n;m;k}^{a-1} H(X_{r-1;n;m;k}) e^{t X_{r-1;n;m;k}^a} (1 - e^{\lambda(X_{r-1;n;m;k})})^2}{\lambda'^2(X_{r-1;n;m;k})} \right],$$

where $H(x) = f(x)/\bar{F}(x)$. Substituting I_1, I_2 and I in (2.7), we obtain (2.2).

Conversely, if the characterizing Condition (2.2) holds, then from (2.7) and (2.8), we have

$$M_{r;n;m;k}^{(a)}(t) - M_{r-1;n;m;k}^{(a)}(t) = I_1 + I_2 + I_3 - I_4 - I_5. \tag{2.9}$$

I_3 can be written as

$$I_3 = \frac{a t C_{r-1}}{\theta_1 \theta_2 \gamma_r(r-1)!} \int_0^\infty \frac{x^{a-1} e^{t x^a} (1 - e^{\lambda(x)})}{\lambda'(x)} g_m^{r-1}(F(x)) \times \left[\frac{(1 - e^{\lambda(x)}) f(x)}{\lambda'(x)} \right] d[-\bar{F}(x)]^{\gamma_r-1}.$$

Upon integrating by parts, we obtain

$$I_3 = I_4 + I_5 + I_6, \tag{2.10}$$

where

$$I_6 = \frac{a t C_{r-1}}{\theta_1 \theta_2 \gamma_r(r-1)!} \int_0^\infty \frac{x^{a-1} e^{t x^a} (1 - e^{\lambda(x)})}{\lambda'(x)} g_m^{r-1}(F(x)) \times \left[\frac{(1 - e^{\lambda(x)}) f(x)}{\lambda'(x)} \right]' \bar{F}(x)^{\gamma_r-1} dx.$$

Substituting (2.10) in (2.8), we obtain

$$M_{r;n;m;k}^{(a)}(t) - M_{r-1;n;m;k}^{(a)}(t) = I_1 + I_2 + I_6. \tag{2.11}$$

Eq. (2.11) can be written as follows

$$\frac{a t C_{r-1}}{\gamma_r(r-1)!} \int_0^\infty x^{a-1} e^{t x^a} [\bar{F}(x)]^{\gamma_r-1} g_m^{r-1}(F(x)) dx \times \left\{ \bar{F}(x) - \frac{1}{\theta_1 \theta_2} \left[\frac{(1 - e^{\lambda(x)}) f(x)}{\lambda'(x)} \right]' \frac{(1 - e^{\lambda(x)})}{\lambda'(x)} - \frac{\theta_1 + \theta_2}{\theta_1 \theta_2} \frac{(1 - e^{\lambda(x)}) f(x)}{\lambda'(x)} - 1 \right\} dx = 0.$$

Applying the extension of Müntz-Szász theorem [11], we obtain the differential equation

$$\left[\frac{(1 - e^{\lambda(x)}) \bar{F}(x)}{\lambda'(x)} \right]' \frac{(1 - e^{\lambda(x)})}{\lambda'(x)} + (\theta_1 + \theta_2) \frac{(1 - e^{\lambda(x)}) \bar{F}(x)}{\lambda'(x)} + \theta_1 \theta_2 \bar{F}(x) - \theta_1 \theta_2 = 0.$$

This is condition (1.5) in Lemma 1 which has the solution

$$F(x) = p(1 - e^{-\lambda(x)})^{\theta_1} + (1 - p)(1 - e^{-\lambda(x)})^{\theta_2}. \quad \square$$

Remark 2.1. By differentiating both sides of (2.2) with respect to t and then setting $t = 0$, we obtain

$$\begin{aligned} \mu_{r;n;m;k}^{(a)} - \mu_{r-1;n;m;k}^{(a)} &= \frac{a(\theta_1 + \theta_2)}{\theta_1\theta_2\gamma_r} E \left[\frac{X_{r;n;m;k}^{a-1} (1 - e^{\lambda(X_{r;n;m;k})})}{\lambda'(X_{r;n;m;k})} \right] \\ &+ \frac{a(\gamma_r - 1)}{\theta_1\theta_2\gamma_r} E \left[\frac{X_{r;n;m;k}^{a-1} H(X_{r;n;m;k}) (1 - e^{\lambda(X_{r;n;m;k})})^2}{\lambda'^2(X_{r;n;m;k})} \right] \\ &- \frac{a}{\theta_1\theta_2\gamma_r} E \left[\left[\frac{X_{r;n;m;k}^{a-1} (1 - e^{\lambda(X_{r;n;m;k})})}{\lambda'(X_{r;n;m;k})} \right]' \frac{(1 - e^{\lambda(X_{r;n;m;k})})}{\lambda'(X_{r;n;m;k})} \right] \\ &- \frac{a}{\theta_1\theta_2} E \left[\frac{X_{r-1;n;m;k}^{a-1} H(X_{r-1;n;m;k}) (1 - e^{\lambda(X_{r-1;n;m;k})})^2}{\lambda'^2(X_{r-1;n;m;k})} \right] \\ &+ \frac{a C_{r-1}}{\gamma_r C_{r-1}^*} E \left[\frac{X_{r;n-1;m;k+m}^{a-1}}{H(X_{r;n-1;m;k+m})} \right], \end{aligned} \quad (2.12)$$

where $\mu_{r;n;m;k}^{(a)} = E[X_{r;n;m;k}^a]$.

Remark 2.2. If we put $m = 0$ and $k = 1$ in (2.2) and (2.12), we obtain the recurrence relations of oOSs, in the form

$$\begin{aligned} M_{r;n}^{(a)}(t) - M_{r-1;n}^{(a)}(t) &= \frac{a t(\theta_1 + \theta_2)}{\theta_1\theta_2(n - r + 1)} E \left[\frac{X_{r;n}^{a-1} e^{t X_{r;n}} (1 - e^{\lambda(X_{r;n})})}{\lambda'(X_{r;n})} \right] \\ &+ \frac{a t(n - r)}{\theta_1\theta_2(n - r + 1)} E \left[\frac{X_{r;n}^{a-1} H(X_{r;n}) e^{t X_{r;n}} (1 - e^{\lambda(X_{r;n})})^2}{\lambda'^2(X_{r;n})} \right] \\ &- \frac{a t}{\theta_1\theta_2(n - r + 1)} E \left[\left[\frac{X_{r;n}^{a-1} e^{t X_{r;n}} (1 - e^{\lambda(X_{r;n})})}{\lambda'(X_{r;n})} \right]' \frac{(1 - e^{\lambda(X_{r;n})})}{\lambda'(X_{r;n})} \right] \\ &- \frac{a t}{\theta_1\theta_2} E \left[\frac{X_{r-1;n}^{a-1} H(X_{r-1;n}) e^{t X_{r-1;n}} (1 - e^{\lambda(X_{r-1;n})})^2}{\lambda'^2(X_{r-1;n})} \right] \\ &+ \frac{a t n}{(n - r)(n - r + 1)} E \left[\frac{X_{r;n-1}^{a-1} e^{t X_{r;n-1}}}{H(X_{r;n-1})} \right]. \end{aligned} \quad (2.13)$$

$$\begin{aligned} \mu_{r;n}^{(a)} - \mu_{r-1;n}^{(a)} &= \frac{a(\theta_1 + \theta_2)}{\theta_1\theta_2(n - r + 1)} E \left[\frac{X_{r;n}^{a-1} (1 - e^{\lambda(X_{r;n})})}{\lambda'(X_{r;n})} \right] \\ &+ \frac{a(n - r)}{\theta_1\theta_2(n - r + 1)} E \left[\frac{X_{r;n}^{a-1} H(X_{r;n}) (1 - e^{\lambda(X_{r;n})})^2}{\lambda'^2(X_{r;n})} \right] \\ &- \frac{a}{\theta_1\theta_2(n - r + 1)} E \left[\left[\frac{X_{r;n}^{a-1} (1 - e^{\lambda(X_{r;n})})}{\lambda'(X_{r;n})} \right]' \frac{(1 - e^{\lambda(X_{r;n})})}{\lambda'(X_{r;n})} \right] \\ &- \frac{a}{\theta_1\theta_2} E \left[\frac{X_{r-1;n}^{a-1} H(X_{r-1;n}) (1 - e^{\lambda(X_{r-1;n})})^2}{\lambda'^2(X_{r-1;n})} \right] \\ &+ \frac{a n}{(n - r)(n - r + 1)} E \left[\frac{X_{r;n-1}^{a-1}}{H(X_{r;n-1})} \right]. \end{aligned} \quad (2.14)$$

Remark 2.3. If we put $m = -1$ in (2.2) and (2.12), upper k th Rvs, we have

$$\begin{aligned} M_{U(r),k}^{(a)}(t) - M_{U(r),k}^{(a)}(t) &= \frac{a t(\theta_1 + \theta_2)}{k \theta_1 \theta_2} \\ &\times E \left[\frac{X_{U(r),k}^{a-1} e^{t X_{U(r),k}} (1 - e^{\lambda(X_{U(r),k})})}{\lambda'(X_{U(r),k})} \right] + \frac{a t(k - 1)}{k \theta_1 \theta_2} \\ &\times E \left[\frac{X_{U(r),k}^{a-1} H(X_{U(r),k}) e^{t X_{U(r),k}} (1 - e^{\lambda(X_{U(r),k})})^2}{\lambda'^2(X_{U(r),k})} \right] \\ &- \frac{a t}{k \theta_1 \theta_2} E \left[\left[\frac{X_{U(r),k}^{a-1} e^{t X_{U(r),k}} (1 - e^{\lambda(X_{U(r),k})})}{\lambda'(X_{U(r),k})} \right]' \frac{(1 - e^{\lambda(X_{U(r),k})})}{\lambda'(X_{U(r),k})} \right] \\ &- \frac{a t}{\theta_1 \theta_2} E \left[\frac{X_{U(r-1),k}^{a-1} H(X_{U(r-1),k}) e^{t X_{U(r-1),k}} (1 - e^{\lambda(X_{U(r-1),k})})^2}{\lambda'^2(X_{U(r-1),k})} \right] \\ &+ \frac{a t}{k(1 - k^{-1})^r} E \left[\frac{X_{U(r),k-1}^{a-1} e^{t X_{U(r),k-1}}}{H(X_{U(r),k-1})} \right]. \end{aligned} \quad (2.15)$$

$$\begin{aligned} \mu_{U(r),k}^{(a)} - \mu_{U(r),k}^{(a)} &= \frac{a(\theta_1 + \theta_2)}{k \theta_1 \theta_2} E \left[\frac{X_{U(r),k}^{a-1} (1 - e^{\lambda(X_{U(r),k})})}{\lambda'(X_{U(r),k})} \right] \\ &+ \frac{a(k - 1)}{k \theta_1 \theta_2} E \left[\frac{X_{U(r),k}^{a-1} H(X_{U(r),k}) (1 - e^{\lambda(X_{U(r),k})})^2}{\lambda'^2(X_{U(r),k})} \right] \\ &- \frac{a}{k \theta_1 \theta_2} E \left[\left[\frac{X_{U(r),k}^{a-1} (1 - e^{\lambda(X_{U(r),k})})}{\lambda'(X_{U(r),k})} \right]' \frac{(1 - e^{\lambda(X_{U(r),k})})}{\lambda'(X_{U(r),k})} \right] \\ &- \frac{a}{\theta_1 \theta_2} E \left[\frac{X_{U(r-1),k}^{a-1} H(X_{U(r-1),k}) (1 - e^{\lambda(X_{U(r-1),k})})^2}{\lambda'^2(X_{U(r-1),k})} \right] \\ &+ \frac{a}{k(1 - k^{-1})^r} E \left[\frac{X_{U(r),k-1}^{a-1}}{H(X_{U(r),k-1})} \right], \end{aligned} \quad (2.16)$$

where $X_{U(r),k}$ is the upper k th record values.

3. Characterizations of finite mixtures based on recurrence relations for conditional moment generating functions of gOSs

Theorem 3.1. Let X be a random variable, r, s be two integers such that $1 \leq r \leq s \leq n$, m and k be real numbers such that $m \geq -1, k > 1$. Then for integers a such that $a \geq 1$, the following recurrence relation is satisfied iff X has the cdf (1.4)

$$\begin{aligned} M_{X_{s;n;m;k}^a | X_{r;n;m;k}}(t|y) - M_{X_{s-1;n;m;k}^a | X_{r;n;m;k}}(t|y) &= \frac{a t(\theta_1 + \theta_2)}{\theta_1 \theta_2 \gamma_s} \\ &\times E \left[\frac{X_{s;n;m;k}^{a-1} e^{t X_{s;n;m;k}} (1 - e^{\lambda(X_{s;n;m;k})})}{\lambda'(X_{s;n;m;k})} | X_{r;n;m;k} = y \right] + \frac{a t(\gamma_s - 1)}{\theta_1 \theta_2 \gamma_s} \\ &\times E \left[\frac{X_{s;n;m;k}^{a-1} H(X_{s;n;m;k}) e^{t X_{s;n;m;k}} (1 - e^{\lambda(X_{s;n;m;k})})^2}{\lambda'^2(X_{s;n;m;k})} | X_{r;n;m;k} = y \right] \\ &- \frac{a t}{\theta_1 \theta_2 \gamma_s} E \left[\left[\frac{X_{s;n;m;k}^{a-1} e^{t X_{s;n;m;k}} (1 - e^{\lambda(X_{s;n;m;k})})}{\lambda'(X_{s;n;m;k})} \right]' \frac{(1 - e^{\lambda(X_{s;n;m;k})})}{\lambda'(X_{s;n;m;k})} | X_{r;n;m;k} = y \right] \\ &- \frac{a t}{\theta_1 \theta_2} E \left[\frac{X_{s-1;n;m;k}^{a-1} H(X_{s-1;n;m;k}) e^{t X_{s-1;n;m;k}} (1 - e^{\lambda(X_{s-1;n;m;k})})^2}{\lambda'^2(X_{s-1;n;m;k})} | X_{r;n;m;k} = y \right] \\ &+ \frac{a t C_{s-1} C_{r-1}^* [\overline{F}_d(x)]^{\gamma_r+1-\gamma_{r+1}}}{\gamma_s C_{r-1} C_{s-1}^*} E \left[\frac{X_{s;n-1;m;k+m}^{a-1} e^{t X_{s;n-1;m;k+m}}}{H(X_{s;n-1;m;k+m})} | X_{r;n;m;k} = y \right]. \end{aligned} \quad (3.1)$$

It easy to prove this theorem in the same manner of Theorem 2.1

Remark 3.1. By differentiating both sides of (3.1) with respect to t and then setting $t = 0$, we obtain the following recurrence relation for moments of gOSs

$$\begin{aligned}
 E\left[X_{s;n;m;k}^a | X_{r;n;m;k} = y\right] - E\left[X_{s-1;n;m;k}^a | X_{r;n;m;k} = y\right] &= \frac{a(\theta_1 + \theta_2)}{\theta_1 \theta_2 \gamma_s} \\
 &\times E\left[\frac{X_{s;n;m;k}^{a-1} (1 - e^{-\lambda(X_{s;n;m;k})})}{\lambda'(X_{s;n;m;k})} | X_{r;n;m;k} = y\right] + \frac{a(\gamma_s - 1)}{\theta_1 \theta_2 \gamma_s} \\
 &\times E\left[\frac{X_{s;n;m;k}^{a-1} H(X_{s;n;m;k}) (1 - e^{-\lambda(X_{s;n;m;k})})^2}{\lambda'^2(X_{s;n;m;k})} | X_{r;n;m;k} = y\right] \\
 &- \frac{a}{\theta_1 \theta_2 \gamma_s} E\left[\left[\frac{X_{s;n;m;k}^{a-1} (1 - e^{-\lambda(X_{s;n;m;k})})}{\lambda'(X_{s;n;m;k})}\right]' \frac{(1 - e^{-\lambda(X_{s;n;m;k})})}{\lambda'(X_{s;n;m;k})} | X_{r;n;m;k} = y\right] \\
 &+ \frac{a}{\theta_1 \theta_2} E\left[\frac{X_{s-1;n;m;k}^{a-1} H(X_{s-1;n;m;k}) (1 - e^{-\lambda(X_{s-1;n;m;k})})^2}{\lambda'^2(X_{s-1;n;m;k})} | X_{r;n;m;k} = y\right] \\
 &- \frac{a C_{s-1} C_{r-1}^* [\overline{F}_d(x)]^{\gamma_{r+1} - \gamma_{r+1}}}{\gamma_s C_{r-1} C_{s-1}^*} E\left[\frac{X_{s;n-1;m;k+m}^{a-1}}{H(X_{s;n-1;m;k+m})} | X_{r;n;m;k} = y\right].
 \end{aligned} \tag{3.2}$$

Remark 4.2. If we put $m = 0$ and $k = 1$ in (3.1) and (3.2), we obtain

$$\begin{aligned}
 M_{X_{s;n}^a | X_{r;n}}(t|y) - M_{X_{s-1;n}^a | X_{r;n}}(t|y) &= \frac{a t (\theta_1 + \theta_2)}{\theta_1 \theta_2 (n - s + 1)} \\
 &\times E\left[\frac{X_{s;n}^{a-1} e^t X_{s;n}^a (1 - e^{-\lambda(X_{s;n})})}{\lambda'(X_{s;n})} | X_{r;n} = y\right] + \frac{a t (n - s)}{\theta_1 \theta_2 (n - s + 1)} \\
 &\times E\left[\frac{X_{s;n}^{a-1} H(X_{s;n}) e^t X_{s;n}^a (1 - e^{-\lambda(X_{s;n})})^2}{\lambda'^2(X_{s;n})} | X_{r;n} = y\right] \\
 &- \frac{a t}{\theta_1 \theta_2 (n - s + 1)} E\left[\left[\frac{X_{s;n}^{a-1} e^t X_{s;n}^a (1 - e^{-\lambda(X_{s;n})})}{\lambda'(X_{s;n})}\right]' \frac{(1 - e^{-\lambda(X_{s;n})})}{\lambda'(X_{s;n})} | X_{r;n} = y\right] \\
 &- \frac{a t}{\theta_1 \theta_2} E\left[\frac{X_{s-1;n}^{a-1} H(X_{s-1;n}) e^t X_{s-1;n}^a (1 - e^{-\lambda(X_{s-1;n})})^2}{\lambda'^2(X_{s-1;n})} | X_{r;n} = y\right] \\
 &+ \frac{a t (n - r)}{(n - s)(n - s + 1) \overline{F}_d(x)} E\left[\frac{X_{s;n-1}^{a-1} e^t X_{s;n-1}^a}{H(X_{s;n-1})} | X_{r;n} = y\right],
 \end{aligned} \tag{3.3}$$

$$\begin{aligned}
 E\left[X_{s;n}^a | X_{r;n} = y\right] - E\left[X_{s-1;n}^a | X_{r;n} = y\right] &= \frac{a(\theta_1 + \theta_2)}{\theta_1 \theta_2 (n - s + 1)} \\
 &\times E\left[\frac{X_{s;n}^{a-1} (1 - e^{-\lambda(X_{s;n})})}{\lambda'(X_{s;n})} | X_{r;n} = y\right] + \frac{a(n - s)}{\theta_1 \theta_2 (n - s + 1)} \\
 &\times E\left[\frac{X_{s;n}^{a-1} H(X_{s;n}) (1 - e^{-\lambda(X_{s;n})})^2}{\lambda'^2(X_{s;n})} | X_{r;n} = y\right] - \frac{a}{\theta_1 \theta_2 (n - s + 1)} \\
 &\times E\left[\left[\frac{X_{s;n}^{a-1} (1 - e^{-\lambda(X_{s;n})})}{\lambda'(X_{s;n})}\right]' \frac{(1 - e^{-\lambda(X_{s;n})})}{\lambda'(X_{s;n})} | X_{r;n} = y\right] \\
 &+ \frac{a}{\theta_1 \theta_2} E\left[\frac{X_{s-1;n}^{a-1} H(X_{s-1;n}) (1 - e^{-\lambda(X_{s-1;n})})^2}{\lambda'^2(X_{s-1;n})} | X_{r;n} = y\right] \\
 &+ \frac{a(n - r)}{(n - s)(n - s + 1) \overline{F}_d(x)} E\left[\frac{X_{s;n-1}^{a-1}}{H(X_{s;n-1})} | X_{r;n} = y\right].
 \end{aligned} \tag{3.4}$$

Remark 4.3. If we put $m = -1$ in (3.1) and (3.2), can be deduced

$$\begin{aligned}
 M_{X_{U(s),k}^a | X_{U(r),k}}(t|y) - M_{X_{U(s-1),k}^a | X_{U(r),k}}(t|y) &= \frac{a t (\theta_1 + \theta_2)}{k \theta_1 \theta_2} \\
 &\times E\left[\frac{X_{U(s),k}^{a-1} e^t X_{U(s),k}^a (1 - e^{-\lambda(X_{U(s),k})})}{\lambda'(X_{U(s),k})} | X_{U(r),k} = y\right] + \frac{a t (k - 1)}{k \theta_1 \theta_2} \\
 &\times E\left[\frac{X_{U(s),k}^{a-1} H(X_{U(s),k}) e^t X_{U(s),k}^a (1 - e^{-\lambda(X_{U(s),k})})^2}{\lambda'^2(X_{U(s),k})} | X_{U(r),k} = y\right] \\
 &- \frac{a t}{k \theta_1 \theta_2} E\left[\left[\frac{X_{U(s),k}^{a-1} e^t X_{U(s),k}^a (1 - e^{-\lambda(X_{U(s),k})})}{\lambda'(X_{U(s),k})}\right]' \frac{(1 - e^{-\lambda(X_{U(s),k})})}{\lambda'(X_{U(s),k})} | X_{U(r),k} = y\right] \\
 &- \frac{a t}{\theta_1 \theta_2} E\left[\frac{X_{U(s-1),k}^{a-1} H(X_{U(s-1),k}) e^t X_{U(s-1),k}^a (1 - e^{-\lambda(X_{U(s-1),k})})^2}{\lambda'^2(X_{U(s-1),k})} | X_{U(r),k} = y\right] \\
 &+ \frac{a t (1 - k^{-1})^r}{k (1 - k^{-1})^s \overline{F}_d(x)} E\left[\frac{X_{U(s),k-1}^{a-1} e^t X_{U(s),k-1}^a}{H(X_{U(s),k-1})} | X_{U(r),k} = y\right].
 \end{aligned} \tag{3.5}$$

Table 1 Examples of (1.4) distributions.

Distribution	$F(x)$
Mixture of two exponentiated Weibull	$p(1 - e^{-\alpha x^\beta})^{\theta_1} + (1 - p)(1 - e^{-\alpha x^\beta})^{\theta_2}$ $\lambda(x) = \alpha x^{\beta-1}, \quad x, \alpha, \beta > 0$
Mixture of two exponentiated exponential	$p(1 - e^{-\alpha x})^{\theta_1} + (1 - p)(1 - e^{-\alpha x})^{\theta_2}$ $\lambda(x) = \alpha x, \quad x, \alpha > 0$
Mixture of two exponentiated Rayleigh	$p(1 - e^{-\alpha x^2})^{\theta_1} + (1 - p)(1 - e^{-\alpha x^2})^{\theta_2}$ $\lambda(x) = \alpha x^2, \quad x, \alpha > 0$
Mixture of two exponentiated Pareto	$p(1 - (1 + x)^{-\alpha})^{\theta_1} + (1 - p)(1 - (1 + x)^{-\alpha})^{\theta_2}$ $\lambda(x) = \alpha \ln(1 + x), \quad x, \alpha > 0$
Mixture of two exponentiated Gamma	$p(1 - e^{-x(1+x)})^{\theta_1} + (1 - p)(1 - e^{-x(1+x)})^{\theta_2}$ $\lambda(x) = x - \ln(1 + x), \quad x > 0$
Mixture of two exponentiated Beta	$p\left(1 - (1 - x)^{\frac{1}{\alpha}}\right)^{\theta_1} + (1 - p)\left(1 - (1 - x)^{\frac{1}{\alpha}}\right)^{\theta_2}$ $\lambda(x) = \frac{1}{\alpha} \ln\left(\frac{1}{1-x}\right), \quad 0 < x < 1, \alpha > 0$
Mixture of two exponentiated Power function	$p(1 - (1 - x)^\alpha)^{\theta_1} + (1 - p)(1 - (1 - x)^\alpha)^{\theta_2}$ $\lambda(x) = -\alpha \ln(1 - x), \quad 0 > x > 1, \alpha > 0$

$$\begin{aligned}
 & E\left[X_{U(s),k}^a | X_{U(r),k} = y\right] - E\left[X_{U(s-1),k}^a | X_{U(r),k} = y\right] \\
 &= \frac{a(\theta_1 + \theta_2)}{k \theta_1 \theta_2} E\left[\frac{X_{U(s),k}^{a-1} (1 - e^{\lambda(X_{U(s),k})})}{\lambda'(X_{U(s),k})} | X_{U(r),k} = y\right] \\
 &+ \frac{a(k-1)}{k \theta_1 \theta_2} E\left[\frac{X_{U(s),k}^{a-1} H(X_{U(s),k}) (1 - e^{\lambda(X_{U(s),k})})^2}{\lambda'^2(X_{U(s),k})} | X_{U(r),k} = y\right] \\
 &- \frac{a}{k \theta_1 \theta_2} E\left[\left[\frac{X_{U(s),k}^{a-1} (1 - e^{\lambda(X_{U(s),k})})}{\lambda'(X_{U(s),k})}\right]' \frac{(1 - e^{\lambda(X_{U(s),k})})}{\lambda'(X_{U(s),k})} | X_{U(r),k} = y\right] \\
 &- \frac{a}{\theta_1 \theta_2} E\left[\frac{X_{U(s-1),k}^{a-1} H(X_{U(s-1),k}) (1 - e^{\lambda(X_{U(s-1),k})})^2}{\lambda'^2(X_{U(s-1),k})} | X_{U(r),k} = y\right] \\
 &+ \frac{a(1-k^{-1})^r}{k(1-k^{-1})^s \overline{F_d}(x)} E\left[\frac{X_{U(s),k-1}^{a-1}}{H(X_{U(s),k-1})} | X_{U(r),k} = y\right].
 \end{aligned}
 \tag{3.6}$$

The previous table gives some distributions with proper choice of $\lambda(x)$ as examples on Theorems 2.1, 3.1 (see Table 1).

4. Conclusions

In this paper we succeeded to characterize a finite mixtures of two components of exponentiated family of distributions based on recurrence relations for moment and conditional moment generating functions of generalized order statistics. Results for ordinary order statistics and k th record values are obtained as special cases.

References

- [1] U. Kamps, A Concept of Generalized Order Statistics, Teubner, Stuttgart, 1995.
- [2] U. Kamps, A Concept of Generalized Order Statistics, J. Statist. Plann. Inference 48 (1995) 1–23.
- [3] C. Keseling, Conditional distributions of generalized order statistics and some characterizations, Metrika 49 (1) (1999) 27–40.
- [4] M. Ahsanullah, Generalized order statistics from exponential distribution, J. Statist. Plann. Inference 85 (2000) 85–91.
- [5] A.A. Ahmad, A.M. Fawzy, Recurrence relations for single moments of generalized order statistics from doubly truncated distribution, J. Statist. Plann. Inference 117 (2003) 241–249.
- [6] E.K. AL-Hussaini, A.A. Ahmad, M.A. Al-Kashif, Recurrence relations for moment and conditional moment generating functions of generalized order statistics based on mixed distributions, J. Statist. Thory. Appl. 4 (2005) 1–12.
- [7] M.A.W. Mahmoud, M.G.M. Ghazal, Characterization of exponentiated family of distributions based on recurrence relations for generalized order statistics, J. Math. Comput. Sci. submitted for publication.
- [8] M.A.W. Mahmoud, M.G.M. Ghazal, On characterization of exponentiated family of distributions based on generalized order statistics, J. Statist. Theory. Appl. 10 (3) (2011) 469–490.
- [9] A.H. Abdel-Hamid, E.K. AL-Hussaini, Estimation in step-stress accelerated life tests for the exponentiated exponential distribution with type-I censoring, Comput. Statist. Data Anal. 53 (2009) 1328–1338.
- [10] E.K. AL-Hussaini, Inference based on censored samples from exponentiated populations, Test 19 (2010) 487–513.
- [11] J.S. Hwang, G.D. Lin, Extensions of Müntz–Szász theorem and applications, Analysis 4 (1984) 143–160.